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R’ Yochanan teaches that generally when an 17o°x is mixed
with 9m» items, we do not count the volume of the 1mn
toward the 1w of the 17o°R, with the exception of the 7o R
ofau.

NIWN 7N 7R W - Because, in the Parsha of Nazir the
Torah says;

Anw’ RS 023p Nwn 21 - He shall not drink anything soaked
in wine - To teach us that if a 713 eats a n°t> of bread soaked in
wine, even though there is much less than a n°15 of actual
wine in the bread, he is 27n as if he ate a full n’1 of wine.
Rashi explains that if there was a 1> of actual wine in the
bread, we would not need a special Posuk - Of course, he is
271 for eating a n°t> of wine. Therefore, we must say that the
Posuk comes to teach

TNORS 0D V.

»p1 adds that the 17o°) of burning a 12 of yn on the mam is
another exception - if y»n and 131 are mixed, one is 21 for
burning a 01> of the mixture, even though there is less than a
1o of actual yim.

The R 2 clarifies that vt also means to include nooa ynn as
an exception. If a person eats a n’12 of a mixture of yn and
non-y»n on no9, he is 27n as if he ate a full n°1> of 1o,

»IN asks 727 -

TNORS QIO P PR NN PIOR 597 -

How can we say that by other o Wo'R aside from 713 and y»n
that we don’t count the 3177 in the mixture toward the Mw of
MR in light of the following mwmn:

10 YW pwm owm P Sw nopni -

If a o» 9120 touches a porridge made with p9m grains and
nmn garlic and oil, the area that he touches becomes 5100
even though the 7m0 should be 2172 503 - nullified in the
majority of the porridge which is poin.

192375 P12 M RN 2DV0 AN -

The reason it is treated like 70 and becomes 5109 is that if
anon-j7> would eat a 1> of the mixture he'd get mpbn for
eating nmn - apparently because we assume
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'»7 17 answers that we do not mean to say that a non-172 who
eats a n°td of the MIXTURE would be 27, but that a non-j
who eats a full n°t> of the O, by eating a ©I9 - the equiva-

lent of 3 or 4 eggs of the mixture would be 27n. This is the =

notion of BUT...

DI NN TN - i o Non-3772 who Non-}732 who eats
When a person consumes a n°t> within the time it takes to eat

a9, itis considered a normal consumption of that n"1>, and eats ad of

he will be punished for it. ofthe MIXTURE = ©78 157N T3

Wwfeﬂf o%
the midure

7R questions the idea that ©39 n%8 *701 12 is a RNPIRT
principle, from three sources:

O e
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First, 5220 nmo2 wOR 7237 5Y 1327 090 "RiR 97 °R - if it
were really Xn»987 why would the 1327 hold that there is no 75

mpbw for eating the nm> dip, which clearly contains a 12 of DN
y»n within each ©19 of dip? RIPNINT
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"7 27 answers that nm> is never consumed straight, and
when used as a dip a person never eats a n°td of yi»n within a
span of a ©19 nYOR *72. If a person were to eat nnd straight,
he would not be punished because

07X 52 nYT H3R NPT 1503 - his behavior is considered an
aberration and one is not 21 for totally abnormal eating.

Second, the xn»11 says that when two packages of spices,
one nm1IN and one P91, fall into two pots, one with P51 food
and one with 7m0 food, we can assume

1591 P PS> PO 593 N NS AN -

Each fell into the pot of its kind. Presumably, each pot has a
079 NYIR 702 1) of spice in it. If the issue is a R IRT
concern, how can we assume that everything worked outin a
lenient way?

'»T 17 answers that the case is a concern of 170 on spices
which is only 13297 "19n, since on a Rn»IRT level only 17
IR Wi are 20 in N,
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Finally, »ax challenges from a xn»1 that speaks about two
boxes of grain that fell into two containers of grain, and there
too we have the right to assume that the nnn fell in the
nmn and the pon fell into the 9 - apparently because o
©79 N2OR 731 1S NOt RN IIRT?!

77 27 anSwers 131277 M 1A NS M - that X2 ds
speaking abut 71190 nowadays which is only 131277, even on
IR WINPT

137 '3 had said that nwn teaches MRS 97030 7.

The X asks;

RINRT R 2I02 NIWD R -

How can we say that mwn teaches Mo'R> 97031 30 when a
Rn71 says that nywn teaches 9°v> DYv - that if a 711 drinks
water that is flavored by grapes, it is the same as drinking
wine - and 7t which is a relatively light 7o’ in that it is not
permanent, there is no X377 MO’ and the Mo’R can be undone
through 1770, serves as the basis for the concept of 7°v> DYV
in all Pmnw pNOR?!
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The xm) answers;

RL'PY 7273 IORT 30V 72N 1327730 N -

This is actually a Machlokes:

The Braisa follows the opinion of the j311 that nywn teaches
PPV DYV -

And 3nv " follows the opinion of X2°pY »17 that nwn teaches
TNORS 0D IV

9 R PPV DYV RPY 2N -

but then what is X2°pY "7's source for v DYV?

First, we suggest he learns it from 15n3 9w3a where it is just
the flavor of milk that gets absorbed in the meat through the
cooking, and it is still mox. The X3 rejects this, though,
because we cannot learn from 2512 w3, because it's a vITN
in that soaking meat in milk all day will not make it 25r2 Jw3,
but the moment they are cooked together it becomes w2
2572,

Second, we suggest 0723 50 P> -

R2’pY 27 learns 7p°»> oYv from the requirement to Kasher
pots which only have flavors of non-kosher food.

The &0 rejects this too because 07123573 is also a wiTn
since normally once flavor has been trapped in the walls of a
pot for 24 hours it becomes owo - rancid and

A 005 owv I o -

The fact that we need to purge the pot of those flavors is a
I

R2pY *29, though holds that ©121 "2 is not a wiT'n, because
itonly applies to a

RPY N2 7377 - a pot that had been used for non-kosher food
within the last 24 hours, when it is not 0305 oy jmi. There-
fore, 0123512 is not a w1TM, and can serve as the source of
v oYL for AMNW PNON 5.
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